CBSE Class 12 Economics Compartment Question Paper 2019 (July 2, Set 2- 58/1/2)

[] 4[]
[= 2528

FEA. pg 40

Code No.

: TE-
Roll No. W 3799 fg | &

Candidates must write the Code on the
title page of the answer-book.

o YA S A A foh 38 - ° Afgd I8 11 F |

o TUUH-UF H TEH BY hl AN T U hig TFeR bl BF IR-YR&dhl o HE-I5 W
ford |

o YA I B A fh 30 THAIAH 24 T B |

o THUAT UIA HT I TeT@AT I[&E T W UgeA, T 1 shHTeh AT Te1@ |

e 3H WYUAUA Wl Ugd o [T 15 e o1 0y @@ a1 2 | I9H-97 o1 fqaior qaig

4 10.15 et 61 M@ | 10.15 sSF 9 10.30 91 b S shddl IH-9F I Tel
3R 39 AAMY oh G d I-J&dehl T his I a1 ot |

e Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written onthetitle page of the answer-book by the candidate.

e Please check that this question paper contains 24 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

AAIMTE

ECONOMICS
[Feiia o - 3 Tve S7IFHTT 37F - 80
Time allowed : 3 hours Maximum Marks : 80
58172 1 P10
&collegeduniaz

India’s largest Student Review Platform

—



[] 4[]
[= 2528

Wﬁé’rﬂ:
G) 2 @vel & @4t 397 37Hard & |
(i)  5c39% J97 & [HRa 379 39 qrgd v 710 & |

(iii) I &I 1~ 4 797 13 - 16 37ld TLRIHF J97 &, 1575 F9% H1 1 3% & |
57hT Jdb BT It Uk JTFT 7 57 3791877 & |

(iv) 397 TG&IT 5-6 3K 17- 18 TLHRIHH 97 &, 1579 J9% & 3 3P & |
Yk &1 IR GIHTIT: 60 o351 & 3718 787 F17 =5y |

(v) I TGEITT-9 3K 19-21 ¥ TqRIcHS 97 &, o759 Id4b & 4 3% & |
Y HT I GIEId: 70 Jee] G 3718 787 517 FaT |

(vi) ¥ &I 10-12 3K 22 - 24 Fd ITUcHS I97 &, [977 9% & 6 37F
&g | I T I GrHT=IT: 100 Ieg] G 3718 787 &7 FeT |

(vii) IO GIET TIT TEIICHF 517 TIN50 TIT JITHYT FI &1 T3 Joc T & Jdld
51 13w 517 =T |

LA DR A = T R W . s M e M D K
z .
X =
] F
= B
o i
a -
e =
] L
Aot b AR A 0 R bl i ol

®
&collegedunlaz
India’s largest Student Review Platform

—



[] 4[]
[= 2528

General Instructions :
(1) All questions in both the sections are compulsory.
(11)  Marks for questions are indicated against each question.

(111) Questions No. 1 — 4 and 13 — 16 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv) Questions No. 5§ - 6 and 17 - 18 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v)  Questions No. 7 -9 and 19 - 21 are also short-answer questions carrying
4 marks each. Answers to them should normally not exceed 70 words
each.

(vi) Questions No. 10 - 12 and 22 - 24 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed

100 words each.

(vit) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.

P18,
collegedunia:

India’s largest Student Review Platform

[ ] LRI PR IR i L R W | L rM o L Ol
=2 m
5 =
@ B
l i
i =
z %
T I
pr S
CAM DRI TR MO KL O T RO C DR S O Dl K

-

—




[=] 2 34
@ue A
(afse 3Te9TTE)
1. TUETCHS GRehIv & TTER, ITACT ohl qaT Sl 7 | (EE
fIehed T I hileT) 1
(F) TWH
(@) HAH
(1) e
() ShrsAT H
2. T dsh oh a1 3TN RgTeh1a 1 shis Teh 3Ifd HRUT Fd1ST | 1
AT
O hl ShiAd d i 1Y FqTsU | 1
3.  ©9¢ 1@l ol gHI TARgu | 1
AT
T SYIIRTAT Sl THHTIVG shitold, | 1
4. 3T GJiaH [dehed e AT I oo shgardl g | (T oM b1 gfd
HITSTT) !
5.  Jic Uiadd S HiAd e TR Bl a1 3caTed 9YTeadT sk o 3R W feuqufi
hITY | 3
6. 3fId HRU-HFd ==l hiloW Toh, 37feIeh SIS ol IcdTed aH T 3Had feoR
AN (AFC) ash-H 91 9iaad 8id & | 3
AT
37Ed i ANTd dsh | U-3TThI o1 &F o U] ol 3gd d 4] shifold | 3
7.  ThETd Y <d §Y FAT3C foh MHTIRad e &&7 8 A1 To7d 4
(%) TorEl JUHIRT shl 31T H Jig 8H W, 3Gk g AMM T8 Tl Jh hl
FEAT I 11T T ghg gl & |
(@) Jfc A T3 9 | Yia9d 9iddd, shiad d a3 9iedd o @9 8l
dt [T dsh y-3781 o THTAL Ush Hiefi T@r gt |
3T
Tsh I X sl hIAd H 10% 1 g BH s IRUMHESEY, HMT hl HET T
20% B ATt 8 | AT hl hHd <M oh T[OMh ohl TUMET hHItC | AT I3 o
gYTiad TR 9T fewuft e | 4
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SECTION A
(MICROECONOMICS)

1. According to cardinal approach, utility is measured in terms of

(Choose the correct alternative) 1

(a) Rupees

(b)  Ranks

(c) Utils

(d)  Units
2 State any one valid reason for leftward shift in demand curve. 1

OR

State the meaning of price elasticity of demand. 1

3. State the equation of budget line. 1
OR

Define Marginal Utility. 1
4, The cost of next best alternative foregone is called as . (F1ll up

the blank) 7
S. Comment upon the shape of production possibility curve, 1f the marginal

rate of transformation is constant. 3

6. Discuss with«valid reason, what happens to Average Fixed Cost (AFC)

curve as output produced increases. 3
OR
State and discuss the reason behind the U-shape nature of Average
Variable Cost curve. 3
O Giving valid reasons, state whether the following statements are true or
false : 4

(a) An increase in the income of a consumer would lead to an increase
in demand for all types of goods demanded by him.

(b)  If percentage change 1n quantity demanded i1s equal to percentage
change 1n price, the demand curve will be a straight line parallel
to y-axis.

OR

The price of a commodity X increases by 10%, as a result the quantity
demanded falls by 20%. Calculate coefficient of price elasticity of
demand. Comment upon the likely shape of the demand curve. 4
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8.  “Yul YNNIl § Ueh ®H <hiHd TolehReh qT ITNT shiFa Al &d g |7 o
39 TCU 7T e | T&Hd & ? 3194 I o 98 H qehdiTd FTEAT hiforg | 4
9. TA=IIRgd ATd AHN bl qU hiNT - 4
3caTe (3ehTgal W) 1 | 2 | 3 | 4
% AN (T H) 20 | - ~ | 40
3Ed @ra (T H) _ _ 12 | -
T arma (T H) _ | 10 | - _
3rerdT
I AT T o g, 3AEd IATG (AP) a1 €iHTd 3eq1g (MP) o o= a4
ddqreu | 4
10. T IYYIAI hdel al a&ql A 3 B o1 SUHAT Hdl g 997 areedl ¥ 7 |
¢ a%q B bl shid dedl 8, df IUFAAT Ta¥etyoT o Taiid IUHIRAT shl AHTIAd
JTdTshal ol AT shifold, | 6
GOE
I ah el Tohral gl TARINATSTl shl SATET HiT | 6
11. T I o1 SR Adad H & | Tohel dehdlehl @IS o hRUT 9% hl 3cdTed
dehileh H YR BIAT & | 9 UNad o g&q ohl Fde hidd T e AT W
e Tl GHTfed 9Tl shil sITedT o | 6
12. &I 7§ qlictehl o HATIR T FaTSU Tob 3cTGT o [ohd TR T %Y Tqai- 3Ta€T |
BT 3T T 2 6
foshi A (3159 H) | 0 | 1| 2| 3| 4|5 | 6
hHd (T H) 20 | 20 | 20 | 20 | 20 | 20 | 20
% AMd (T H) 10 | 50 | 80 | 100 | 105 | 125 | 150
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8. “A firm under perfect competition i1s a price taker and the industry i1s a
price maker.” Do you agree with the given statement ? Support your
answer with valid explanation. 4

9. Complete the following cost schedule : 4

Output (in units) 1 2 3 4
Total Cost (in ) 20 — — 40
Average Cost (in I) — — 12 —
Marginal Cost (1in ) _ 10 _ _
OR
State the relation between Average Product (AP) and Marginal Product
(MP), using a schedule or diagram. 4

10. A consumer consumes only two goods A and B and is in equilibrium. If
the price of good B rises, explain the likely reaction of the consumer
under utility analysis. 6

OR
Explain any two properties of indifference curve. 6

11. Market for a good 1s 1n equilibrium. Due to some technical innovation,
production technology of the good improves. Explain the likely effects of
this change on equilibrium price and equilibrium quantity of the good. 6

12. On the basis of the given schedule, state at which level of output will the
firm be at equilibrium and why ? 6

tity Sold (3
Quantity Soldin | o | 4 | 9 | 3| 4 | 5 | 6
units)
Price (in T) 20 | 20 | 20 | 20 | 20 | 20 | 20
Total Cost (1n ) 10 | 50 | 80 | 100 | 105 | 125 | 150
58172 7 P10
&collegedunlaz

—

India’s largest Student Review Platform



WUs &
(THTSe STYUITE)
13. THAfRgd § 9 hH-ET1 T YoiiTd = 77 @ ? 1
() Toava o g fdU U k0T
(@) foare™ 9ad &1 i
(7))  =ROT <hT YA
(|) oL TIieaqan
14. 1 I &1 999 T 2 | (g fased &1 =34 hifee) 1
() SISk Sehl GRI TeUTalY UMl
(@) dTiuIsgeh sehl gRI Grelehlet ol
(M) fafEw
(&)  3fes=a (He=a)
15. TS 91 1 AY figu | 1

16. T 2000 % THLH! A1C W o gEdel Bid & | (Toh g &1 gfd shifole) 1
3T

gl 7[UTeh hl TUHT o 1T YT fohT I ITAT ¥ TilaT | 1
17.  “HIQEE] 1 YT To= H1 EAT B ITedl AIIEAT, THI T hl HA

T Hl TS |7 T Y fCU U heH U TWEHd B ? 394 3T b 9T H

dehgTTd HITJ ST | 3
AAT

fArafaiiga | O fopdert A9 Soh1s | 38 &1 Tehal & 3T AT ? 3

() ©EId IU9F Y9 (MPC)
(@) 3ftEd 39T Y (APC)
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SECTION B
(MACROECONOMICS)
13. Which one of the following 1s not a Capital expenditure ? 1

(a) Loans advanced by World Bank

(b)  Construction of school buildings
(c) Repayment of loans
(d)  Tax Receipts

14. Repo rate relates to . (Choose the correct alternative) 1

(a)  Short-term borrowings by commercial banks
(b)  Long-term borrowings by commercial banks
(c) Disinvestments

(d)  Dis-savings

15. State the meaning of revenue deficit. 1
16. Signature of appears on a < 2000 currency note. (Fill up the
blank.) 1
OR
State the formula used for calculating money multiplier. 1
17. “An economy facing unintended accumulation of inventories would try to
reduce aggregate demand.” Do you agree with the given statement ?
Support your answer with valid reasons. 3
OR
Value of whichof the following can be greater than one and why ? J

(a)  Marginal Propensity to Consume (MPC)
(b)  Average Propensity to Consume (APC)

18. Giving valid reasons, state whether the following statements are {rue or
false : 3

(a) Ex-post investment means fixed capital with production units
during a particular period of time.

(b) Marginal propensity to consume represents the slope of the
consumption function.

19. What 1s legal reserve ratio ? How does 1t influence the process of credit

creation ? 4

OR
Explain ‘Banker’s Bank’ function of Central Bank. 4
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20. “eurdy Hifd % g R, W I AEIAhdl JTAR FEIEAl HI M6

FHdl & |7 9T 379 feU 70 99 9 9gHd & ? 39 I i deh@ITd ShILUT Coht

forg ST | 4
21. TA=lciigd sAieel 9 “Heag@” sl MUHET ST 4
(T &S H)
(i) | Eohel I Hed 300
(i) | HTEE AT W Yg qed g (NVApe) 100
(iii) | AT TETIAT 15
(iv) | HETedl UM 185
22. (%) TEEA AFed AT THSH oiHed § al TIS hifT | 3
(@) THfARad i JILHTNG SHiTTT 3
()  foeeh fafma o
(i) foraeit Her
(iii) Hgl I ATHIH
23. THIIRgd & & -8 7 Gehed =c] IcUTG hl TUET A H GiFferd grfl 3R
HIF-Hl Fg7- BT 27 9 3T o 9 H deh&d hRUT G, | 6
() 9T H ToIfesr garam® | shREid WA gRI Ted Heigd
(@) “@rl dshata o UvETd faQen ¥ 9Ted AT TERIdT
(1)  focsT | A hl T3 QU B
3T
&I 34180 ohl HFAT 9, drdiider USEE A T Hifgeh U 3T H
3T TS HiTY | 6
24, Uh HAYSHIEYT hl §=d el (1 T 2 -
S=-250+025Y
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20. “Through 1ts budgetary policy government allocates resources i1n
accordance with the requirements of the country.” Do you agree with the
given statement ? Justily your answer with valid reason. 4
21. Calculate “Depreciation” from the following data : 4
(¥ 1n crores)
(1) | Gross value of output 300
(ii) | Net value added at tactor cost (NVAgzH) 100
(111) | Subsidies 15
(1v) | Intermediate consumption 185
22. (a) Distinguish between Autonomous Transactions and
Accommodating Transactions. 3
(b)  Define the following : 3

(1) Foreign Exchange Rate
(11)  Foreign Currency

(111) Devaluation of Currency

23. Which of the following items will be included/not included while

estimating Gross Domestic Product ? Give valid reasons in support of
your answer, 6

(a) Wages received by an Indian working in the British Embassy in
India

(b)  Financial aids received from abroad after “Fani cyclone”
(c) Purchase of second hand machinery from abroad

OR

Using numerical example, distinguish between Real National Income
and Nominal National Income. 6

24. The saving function of an economy 1s given as :

S=—250+025Y

If the planned investment 1s ¥ 2,000 crores, calculate the following : 6

(a)  Equilibrium level of income in the economy.

(b)  Aggregate demand of income of ¥ 5,000 crores.
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